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sin 2ae = 2sin avcos = 2 sin asin(90° 4 «)
cos2a = cos’a —sin?a =2cos’a —1=1—2sin’a

2tan «
tan 2o = —
1 —tan® «

1. ®aEFZEGH A X sin(a + B) = sinacos 3 + sin B cos a

(a) sin2a = sin(a 4+ «) = sina cos a + sin avcos « = 2 sin v cos «
(b) sin2a = 2sina cos o = 2sinasin(90° — «)

= 2sin asin(180° — (90° — «))

= 2sin asin(90° + «)

2. WERIZE R A A X cos(a + B) = cosacos 8 — sin asin

(a) cos2a = cos(a + ) = cosa cosa — sin asin «

= cosZa — sin®

(b) B sin?a + cos’a =1
cos 2o = cos? a — sin® a = (1 — sin” ) — sin’a = 1 — 2sin’

(c) FI2 » cos2a =2cos’a — 1
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3. WEWHHAFAKX tan(a+ ) = an o + tan f3
1 —tanatan 8
tan 2a = tan(a + «)
tan a + tan a 2tan av

T 1 _tanatana 1—tanla



